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QUESTION 1

Click the Exhibit button. 

The IGP is IS-IS. Routes from R1 need to be present on R6. Referring to the exhibit, what will accomplish this task? 

A. Create an L1 adjacency between R2 and R3 to allow the routes to pass through to R6. 

B. Use policy on R3 to leak R1\\'s routes from L2 to L1. 

C. Change the area address from 49.0003 to 49.0001 on R6 to allow R6 to accept routes from R1. 

D. Use policy on R2 to leak R1\\'s routes from L1 to L2. 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 
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In the exhibit, all routers within each AS are configured for Anycast RP. All intra-AS routers are configured within the
same MSDP mesh group. Inter-AS multicast has been enabled using MSDP without MSDP mesh groups. Which
statement is true? 

A. R6 and R7 should have an MSDP peering, because multiple MSDP AS hops are not allowed. 

B. SA messages received from R2 are not forwarded to R5, R7, and R8. 

C. SA messages from R5 are not forwarded to AS1. 

D. Duplicate SA messages may be received in AS2. 

Correct Answer: D 

 

QUESTION 3

Click the Exhibit button. 
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CE1, CE2, and CE3 are part of a single VPLS VPN. R1, R2, and R3 are PEs in the provider network, and have just
been powered on. The VPLS domain has converged, and frames have passed between all CEs in the last minute. An
Ethernet frame has just arrived at R3 from CE3. It has a source MAC address of CE3 and a destination MAC address of
CE1.What does R3 do with the Ethernet frame? 

A. Drops the packet as the destination MAC address is not for R3. 

B. Drops the packet as the destination MAC address is not in R3\\'s MAC table. 

C. Forwards the packet to R1 only. 

D. Forwards the packet to R1 and R2. 

Correct Answer: C 

 

QUESTION 4

Click the Exhibit button. 
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The routers shown in the exhibit are connected in a full BGP mesh. R1 is the route reflector and R2 through R5 are
clients. R3 should only receive one copy of all routes sent from R4.Which configuration is valid? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

QUESTION 5

Which two scenarios would explain the error shown in the exhibit? (Choose two.) 
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A. Packets were dropped in the receive path of the local router. 

B. The local router received a route withdrawal from the peer. 

C. Packets were dropped in the receive path of the peer router. 

D. The local router egress interface towards the peer was congested. 

Correct Answer: CD 
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